BETT=RIVFLTRAVE 0171 EAVEFHA T T AKX H
BFIUTLABR 20165 20175 E
B | 17 B | 17

E6L | K 4 il Pl AUk BE | FENE| IR |17V |47V | FZF |FENME| WI2 |47V |47V
1 |8 #IX TIZA 75 25 50
2 |#H EIF 1J/\— 62 37 25
3 | IEZHE 2!)— 55 6 25 12 6 6
3_|EH & 2!)— 55 37 6 12

5 [JIIHA ImHE ADELTC 50 50

5 Rl #— CAI 50 50

5 |H80 M= 21— 50 50

5 [lUAX #E J—rJ—y 50 50

9 [&H E2 21)— 49 12 25 12
10 [#fE B Naslice 43 6 12 25

11 |58 X IR PR 37 37

11 |l 8= J1)— 37 37
11 |E&X X 21— 37 37

11 |[FRE M5 Jbwyia 37 25 6 6

15 |8 R5H THT7IIL— 31 6 25

15 |[#& BEER |[RILYE 31 25 6
15 |RIk EiE 21— 31 25 6
18 &K H— TIZA 30 6 12 12
18 |FH Bw THT7IIL— 30 12 6 12

18 |kt B— THF7IIL— 30 6 6 12 6

21 |[& E—8R O4vJLH—F>TC | 25 25
22 | K& = F—LIEKK 24 6 6 12

22 |1 EX S)LE— 24 12 12
22 |fkH FEh IMPACT 24 12 12

25 e #E GREMLINS 12 12

25 |&FH—H 2!)— 12 12
25 [1E15 M ARYFILTC 12 12

25 [#BH A Come on ! 12 12

25 |fEEE #— HHvA 12 6 6
25 |=i@ # TOF7ITIL— 12 12

31 EIE R XA4OIA 6 6

IE A E&I 6 6

31 |FA & 7HEUF 6 6
31 [ E% 4N 7EY7F 6 6

31 | E¥ =X 21— 6 6

31 | s 2!)— 6 6

3 _|ARH BB |[9—2T—V 6 6

31 |1BE AE GREMLINS 6 6

31 |/MBR EF Y2957 6 6

N [BF Fi FHEBEHBTC 6 6

31 [MTA & 21— 6 6

31| EE ILwyia 6 6

31 |fERr & g7 ISoia 6 6
31_|fE W J—rJ—> 6 6

31 [FEE fE— 1)/\— 6 6

31 |§80O0 B 21— 6 6
31 BRIl FOth 2!)— 6 6




